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Serial.write(blusetooth.read()):
}
if (Serial.available({)}){
bluetooth.write (Serial.xead()):

i HHERE HHEDLICH

val = digitalRead (inputPin);

Serial.println(analogRead (MQ2pin)): Jf AEHHZERE 0SR20 dI0IEE 20tz AlZIE ZPUEZ 28T
bluetooth.println {analogRead (M02pin) ) ;

delay(looo): // 1s [HZ|

val2 = analogRead (MQ2pin):;

if (val2 > 500){
Serial.princ (AR 111my) .,
bluetooth.write ("2 [ZFR[111my,;
delay (1000);
playTone (300, 1&0);
delay(150);
Serial.println("™"):

}

delay (2000);

/7 B 20| mIea ¥
if {wval == HIGH) {
A 13 O 2EM WEEIH S'= tEp) E ZUCH
digitalWrite {ledPin, HIGH):
playTone (300, 1&0);
delav (150}

if (pirS5tate == LOW) {
£ HHE AEDE LowE
Serial.println("FIRE!!11m) .
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